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ENGLISH VERSION
Instruction : All the question are compulsory.
1 Explain main characteristics of under development 10
economy of Indian country ?
OR
1 Explain evaluation of population policy ? 10
2 Give mean, definition and types of unemployment ? 10
OR
2  What is corruption ? Explain its who produce its 10
factore’s of corruption ?
3 What is regional imbalance ? Explain its causes ? 10
OR
3 What is urbanization ? Explain its problems ? 10
4 Short-note : (any five) 25
(1) ‘Population — Explosion’ — its problems.
(2) Nature of unemployment
(3) Economic Imbalance
(4) Black money
(5) Evolution planning policy
(6) Differences between economy growth and economy
development
(7) Classification of four types country.
5 Give answers in short detail : (any five) 15
(1) Give causes of political intervention of corruption ?
(2) Give characteristics of underdevelopment country ?
(3) What is Mix dual economy ?
(4) Give cause’s of low productivity ?
(5) What is a demography ? Give its important ?
(6) Give social issue during unemployment ?
(7) What is a population policy ?
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